GSE Accelerated Precalculus Unit 2 Graphing Trig Functions -~ Review $pring 2

a

.." Ust the domains and ranges:

\ | Sine Cosine ._ Arcsine Arccosine
Domain (-00, oo) (~p0 ,00) =107 T-1, 0 )
Range L-1,43 Lo ) A -, a2 ) Lo, 7]

2 Explam how to find the amplitude and vertical shift of a smusonda! curve when given the max and :

A ngﬂ N Vere Shist (p) = MaxrMin
. 2
%

3. Explain how to find the max and min of a sinusoidal curve when given the amplitude and vertical sh

MS’«_Y = D -+ ﬁf’ fl’; P D mfﬁr

4. Explam how.you would find the_ penod of a sinusoidal curve when given. the x-values of a consecuiz!

max and min. . J—
F \{ e 9”0 o :ff’d e . L ’;pﬂi‘;
{\f Ny Xw‘f :J Ko {77 LA

. Thetimes S of sunset (Greenwich Mean Time) at 40° north latitude on the 15 of each month a'”

¢ thefollowing equation:  5(+)=1809 +1.41sin[%t + 4.60] |

e

The mo'nt'h_is represented by t , with t =1 corresponding to January. Minutes have heen converted t
decimal p-a-rt of an hour for this data.

5. What is the period of the model? Is it what you expected? Explain, _
/r Q_:ﬂ ? P" ZF Q ]'2, mt,hns,- }/ﬁ’ﬁ ﬂf«ﬂ({r» Sl B

6. What is the amplitude of the function? What does it represent in the model? Explain.
,4 = /.4 A verage sunsetw /B.09, therefore Maximin = /804 r/

7. Rework the problems in your Trig Applications Task and visit this website for more practice w
_equations (4 practice problems) for sinusoidal appllcatlonS'
ttp //www algebralab org/Word/Word aspx?f“ le=Trigonometry SmeModeIsZ xml

. Graphing Be able to identify all transformatfons and characterlstrcs given a tng functlon (such as
.ran: : ho_nzonta!/vertlcal shifts, perlod amplitude of vertical stretch/compression, and reflections)

8 Gr.aph a)f( )-__—'—Z-c'osz'— .' o | b.) f(x)=4sin X_E _
()= secl Lx_7)u3 _ _
QMJ ) c.)f(x)msec.gx 5 |*3 d.)‘f(x)_S'ranZX 1
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Unit 2 Gfaphmg Trig Functions ~ Review Spring 2

a; -2 s f.'f(x)=cs<_:: 3){.?% +3

GSE Accelerated Precalculus

e.) fx ) 2 cot

IV. Write a sinusoidal equation with the given characteristics.
10. Starts at a minimum

11. Starts at the center and

9. *Sine Curve
" Max is.20 ft Sinusoidal axis is y=112 is falling
Minis 2 ft Amplitude is 27. Minis-10
Amplitude is 25

Distance between a

Period is 2.5 minutes
consecutive max and min is 10

Period is 127
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V. inverse Trig Functions
12. Graph the parent graphs for the threei inverse trig functsons
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13. Exp!ain why the domain and range are limited to the values they are.
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